Advanced Algebra 1-9B Word Problems Mrs. Duhphy

Ex. 1: 5 -
At noon a cargo plane leaves Sky Harbor Airport and heads east at 180 mi/h for a destination 500 mi away.

At 1:00 pm a jet takes off from Sky Harbor and flies east at 450 mi/h. D = ﬁj
At what time will the jet catch up to the cargo p.’ane? h
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Ex. 2: Larry earned $213 in interest last year by investing $3000, some in bonds that earned 5% per year
and the rest in stocks that earned 8% per year. How much did he invest at each rate?
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Ex. 3: In a bicycle race, Lionel gives Robert a 500 m advantage and agrees to start ﬁS ming;gS“aﬂer Robert.
If Lionel bikes at 17 km/h and Robert at 14 km/h, how long will it take Lionel to overtake Robert?
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Ex. 4: Atruck left Phoenix for Yuma at 2:00 pm at a speed of 40 mi/h. At 3:15 pm a car left Yuma for
Phoenix at 55 mi/h. They passed each other exactly 2 h before the car reached Phoenix.
How far is it from Phoenix to Yuma?
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